Ajout du Double Plus Un (H)

Evaluez chaque somme.

T+8= 142= 8+9= 546 = 6+7=
3+4= 243= 34+4= 7T+8= 6+7=
9+10 = A1+45= 243= 0+10 = 1+2=
6+7= 7+8= 4+45= 34+4= T+8=
7T+8= 546 = 8+9= 142 = 1+2=
T+8= 0+ 10 = 6+7= 546 = T+8=
6+7= 0+ 10 = 4+45= 8+9= 5+6=
142 = 2+3= 142 = 445= 1+2=
243 = 8+9= 34+4= 6+7= 445=
3+4= 7+8= 0+10 = 4+45= 0+ 10 =
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Ajout du Double Plus Un Solutions (H)

7T+8=15

S+4=7

9+10=19

6+7=13

7T+8=15

7T+8=15

6+7=13

1+2=3

2+3=05

S+4=7

Evaluez chaque somme.

1+2=23

2+3=5

4+5=9

7T+8=15

5+06=11

9+10=19

9+10 =19

2+3=5

S+9=17

7T+8=15

8+9=17

S+4=7

2+3=95

4+5=9

8+9=17

6+7=13

44+5=9

14+2=3

S+4=7

9+10=19

b5+6=11

7T+8=15

9+10=19

3+4=7

1+2=3

5+6=11

S+9=17

4+5=9

6+7=13

4+5=9

6+7=13

6+7=13

14+2=3

7T+8=15

14+2=3

T+8=15

O+06=11

14+2=3

44+5=9

9+10=19
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